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There is a contest at a shoe store at the mall. In a box there are 32 shoes. There are 14 black, 8 red, 6 green, and 4 yellow. The manager says that anyone who picks two shoes of the same color can have them for free with the purchase of another pair.

1.  Draw a tree diagram that represents this situation if you do not put the first shoe back before you pick the second shoe.


[image: image1]
2.  How many possibilities are there and what are the probabilities of each?

10 : BB − 0.1835, BR − 0.2621, BG − 0.2198, BY − 0.1996, RR − 0.0565, RG − 0.1008,   RY − 0.0806, GG − 0.0302, GY − 0.0524, YY − 0.0121
3.  What is the probability of picking a brown shoe and a green shoe?
BG − 0.2198
4.  What is the probability of picking a green or yellow shoe?
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10

= 0.3125
5.  What is the probability that at least one of the shoes is green?
BG + RG + GG + GY = 0.4032
6.  What is the probability that you pick two shoes of the same color?

BB + RR + GG + YY = 0.2823




Green � EMBED Equation.3  ��� = 0.1875





Yellow � EMBED Equation.3  ��� = 0.125














�
�
Event�
Probability�
�
Black�
0.4194�
BB�
0.1835�
�
Red�
0.2581�
BR�
0.0645�
�
Green�
0.1935�
BG�
0.0363�
�
Yellow�
0.1290�
BY�
0.0161�
�
�
�
�
�
�
Black�
0.4516�
RB�
0.1976�
�
Red�
0.2258�
RR�
0.0565�
�
Green�
0.1935�
RG�
0.0363�
�
Yellow�
0.1290�
RY�
0.0161�
�
�
�
�
�
�
Black�
0.4516�
GB�
0.1835�
�
Red�
0.2581�
GR�
0.0645�
�
Green�
0.1613�
GG�
0.0302�
�
Yellow�
0.1290�
GY�
0.0161�
�
�
�
�
�
�
�
�
�
�
�
Black�
0.4516�
YB�
0.1835�
�
Red�
0.2581�
YR�
0.0645�
�
Green�
0.1935�
YG�
0.0363�
�
Yellow�
0.0968�
YY�
0.0121�
�
�
Events:�
16�
Sum = 1�
�









Black � EMBED Equation.3  ��� = 0.4375





Red � EMBED Equation.3  ��� = 0.25
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